PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		1,635.0	725.00	1,185,375	lbs.	\$651,956
Seed - Non-irrigated		1,635.0	1,160.00	1,896,600	lbs.	\$94,830
Cotton (Total)	*	1,635.0				\$746,786
FORESTRY						
Pulpwood						
Pine				80,957		
Hardwood				78,927		
Pulpwood (Total)				159,884		
Chip & Saw				8,952	cords	
Saw Timber						
Pine				44,956,606		
Hardwood					board feet	
Saw Timber (Total)				47,367,411		
Total Pulpwood, Chip & Saw	,					\$34,019,487
Saw Timber FOB Mill						
Total Forestry Stumpage						\$20,472,257
Christmas Trees	*			300	trees	\$12,000
Forestry (Total)						\$34,031,487
FRUITS						
Blackberries	*	9.0	950.00		pints	\$8,550
Blueberries	*	4.0	850.00	3,400	lbs.	\$4,250
Figs	*	2.0	850.00	1,700	lbs.	\$2,040
Mayhaws						
Orchard	*	7.0	90.00	630	lbs.	\$945
Mayhaws (Total)		7.0				\$945
Muscadines						
Fresh	*	2.0	450.00	900	gals	\$7,200

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FRUITS							
Muscadines (Total)		2.0					\$7,200
Fruits (Total)		24.0					\$22,985
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	9,000.0	6.50	Yield / sq. ft.	58,500	lbs.	\$78,975
Greenhouse Vegetables (Total)		9,000.0					\$78,975
HAY FOR SALE	4.7	2 500 0	2.50		12.250		Φ.C.1. 2 , 7.0.0
Grass	45	3,500.0	3.50		12,250	tons	\$612,500
Hay for Sale (Total)	(50	3,500.0					\$612,500
HOME GARDENS	650						\$195,000
PECANS	10	450.0	275.00		122.750	11	#170.075
Improved	10	450.0	275.00		123,750		\$160,875
Native	8	50.0	100.00		5,000	IDS.	\$5,000
Pecans (Total)	0	500.0	20.00		106.750	1	\$165,875
SOYBEANS	9	6,225.0	30.00		186,750	bu.	\$1,159,718
VEGETABLES							
Cucumber Fresh	10	4.0	278.00		1 112	h., (50 lbg)	¢11 1 2 0
	10	4.0	2/8.00		1,112	bu. (50 lbs.)	\$11,120 \$11,120
Cucumber (Total) Lima Beans		4.0					\$11,120
Fresh	*	4.0	75.00		200	bu. (32 lbs.)	\$10,500
Lima Beans (Total)		4.0	75.00		300	ou. (32 108.)	\$10,500 \$10,500
Okra (Fresh)	25	2.0	265.00		530	hu	\$10,300 \$13,250
Snap Beans (Fresh)	23 15	5.0	125.00			bu. (30 lbs.)	\$13,230 \$15,625
Southern Peas (Fresh)	25	130.0	95.00			bu. (30 lbs.) bu. (24 lbs.)	\$13,023
Squash (Fresh)	23	130.0	93.00		12,330	ou. (24 108.)	\$300,730
Yellow Squash	10	2.0	220.00		440	bu. (45 lbs.)	\$6,600
Squash (Fresh) (Total)	10	2.0	220.00		440	ou. (43 108.)	\$6,600 \$6,600
Squasii (Flesii) (10tai)		2.0					\$0,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Sweet Corn (Fresh)	*	5.0	600.00	3,000	doz. ears	\$10,500
Vegetables (Total)		152.0				\$376,345
WHEAT	7	4,825.0	36.00	173,700	bu.	\$564,525
TOTAL ALL PLANT ENT	TERPRISES	,		ŕ		\$37,954,196

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Catfish (Farm)	*	90	Acres in Prod.	264,000	lba	\$170.520
` ,	·	80	Acres III Flou.	204,000	108.	\$179,520
Aquaculture (Total)						\$179,520
FRESHWATER FISHERIES						
Crawfish (Wild) **	*			4,500	lbs.	\$2,610
Freshwater Fisheries (Total)						\$2,610
FUR ANIMALS				94	pelts	\$690
HUNTING LEASES					•	
Waterfowl	10	1,100	No. Acres		acre	\$55,000
		•	Leased			ŕ
All Other Game	20	200,000	No. Acres		acre	\$1,100,000
		,	Leased			
Hunting Leases (Total)						\$1,155,000
HONEY	8	780	No. Hives	108,000	lbs.	\$79,920
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$1,417,740

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

	ALTIVIA	AL ENTERI RISES TROD	OCTION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,151	head	\$509,766
400-500 lbs.			776	head	\$391,733
500-600 lbs.			536	head	\$299,664
600-700 lbs.			214	head	\$136,318
Steer Calves (Total)					\$1,337,481
					Page 4 of 6

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of	Gross Farm Value
	rioduceis	Froduction	Production	ivieasure	v alue
CATTLE & CALVES					
Heifer Calves					***
300-400 lbs.				head	\$394,295
400-500 lbs.				head	\$306,950
500-600 lbs.				head	\$240,165
600-700 lbs.			182	head	\$108,836
Heifer Calves (Total)					\$1,050,246
Yearling Cattle					
600-700 lbs.				head	\$318,500
700-800 lbs.			200	head	\$138,000
Yearling Cattle (Total)					\$456,500
Cow-Calf Pairs			1,100	pair	\$1,045,000
Cull Cows			700	head	\$287,445
Cull Bulls			500	head	\$459,225
Cattle & Calves (Total)	235	6,300 No. Cows			\$4,635,896
DAIRY					
Dairy Cows					
Milk	*	53 No. Adult Cows	788,906	pounds	\$130,012
Bred Heifers			4	head	\$6,000
Adult Cows			11	head	\$13,750
Cull Cows			16	head	\$9,000
Bull Calves			27	head	\$1,620
Dairy Cows (Total)					\$160,382
Dairy (Total)					\$160,382
HORSES					
Brood Mares					
Race Horses	175	1,000 No. Brood Mares	600	head	\$4,800,000
Show Horses	150	220 No. Brood Mares	170	head	\$595,000
					Page 5 of 6

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					_
Recreation Horses	620	1,600 No. Brood	Mares 200	head	\$300,000
Brood Mares (Total)					\$5,695,000
Stud Fees					
Race Horses		10 No. Stallio	ons 100	mares bred	\$200,000
Show Horses		5 No. Stallio	ons 50	mares bred	\$75,000
Recreation Horses		15 No. Stallio	ons 150	mares bred	\$30,000
Stud Fees (Total)					\$305,000
Race Horses	60		3,100		\$31,000,000
Show Horses	150		250	head	\$1,000,000
Recreation Horses	620		2,100	head	\$3,150,000
Horses (Total)					\$41,150,000
GOATS					
Show Goats				head	\$3,700
Slaughter Goats			45	head	\$4,725
Stocker Goats				head	\$1,700
Cull Goats			15	head	\$900
Goats (Total)	*	100 No. Does			\$11,025
SWINE					
Show Pigs				head	\$3,300
Feeder Pigs			160	head	\$7,360
Slaughter Hogs			100	head	\$15,600
Culls			10	head	\$1,120
Swine (Total)	*	10 No. Sows			\$27,380
TOTAL ALL ANIMAL EN	TERPRISES				\$45,984,683
BOSSIER PARISH TO	ΓAL				\$85,356,619